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Explanation and Corrections on Figure 157a and 157b
Introduction

Figure 157a describes the example of initial transmission of DL HARQ for centralized scheduling and 157b describes the example of retransmission of DL HARQ for centralized scheduling. However, there is no corresponding text specified in IEEE 802.16j/D2 to explain those figures.

Following proposed specification text provide the explanation for figures 157a and 157b and also see the corrections for the figures 157a and 157b.
Proposed Specification Text

[Insert following text at line 35 Page 132]
In this example, we consider that all HARQ bursts are transmitted to 3 hop away MSs (i.e. MSs attached to RS2 and RS3). Similar procedure is applicable for MSs who are attached at different hop-depth.
In Figure 157a, MR-BS schedules 5 HARQ bursts for 3 hop away MSs. One of the burst (burst # 2) is assumed to be failed on 1st relay link. It is shown on the arrow as x(2). Similarly other HARQ bursts are failed on other links (access /relay links) and corresponding failed HARQ burst is shown on the relevant arrow.  RS1 failed to receive HARQ burst #2 therefore it will replace the CID in the corresponding HARQ MAP IE with its own Basic CID and at the time of UL ACK reporting, it suppose to send code C1 for that burst. Same procedure is applied at RS2 and RS3. While forwarding the ACK/NAK to super-ordinate RS/MR-BS, RS will perform Cx operation and send encoded ACK/NAK.

[Change figure 157a as shown in following figure]
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[Insert following text at line 31 Page 133]
Figure 157b describes the HARQ retransmission along with new transmission. Retransmission is only performed on the failed link and onwards while the ACK/NAK reporting for the retransmission burst is sent back to MR-BS.
MR-BS schedule transmission of new burst (6, 7 and 8) and also retransmit burst #2 which was failed on 1st hop (see frame N in figure 157b). 

RS1 has to forward all four burst along with 2 retransmitted burst (#1 and #4) witch were failed at 2nd hop (see frame N+1 in figure 157b), therefore RS1 transmit 6 burst in total.

Assume out of 6, 3 bursts are meant for RS2 and other 3 bursts are meant for RS3. RS2 transmit total 4 HARQ bursts, 3 burst received from RS1 and one retransmitted burst (#3) similarly RS3 transmit 4 HARQ bursts, 3 received from RS1 and one retransmitted burst (#5) (see frame N+2 in figure 157a).

In frame N+3, MS sends the ACK/NAK. 

In frame N+4, RSs will transmit the ACK/NAK for the burst received from super-ordinate RS in the order it has received.  However, RSs will transmit the UL ACK/NAK for the retransmitted burst in the separate region indicated by “Retx_ACKCH_offset” in the HARQ_ACKCH_region_allocation_for_Relay_Data IE.

For RS2, one HARQ burst was retransmitted (#3) therefore ACK/NAK for it will be reported in the separate region indicated by “Retx_ACKCH_offset” in the HARQ_ACKCH_region_allocation_for_Relay_Data IE.

For RS3, one HARQ burst was retransmitted (#5) therefore ACK/NAK for it will be reported in the separate region indicated by “Retx_ACKCH_offset” in the HARQ_ACKCH_region_allocation_for_Relay_Data IE.

RS1 will receive ACK/NAK for the burst it has transmitted along with the ACK/NAK for the retransmitted burst from RS2 and RS3.  RS1 shall peform the Cx operation and relay the ACK/NAK of retransmitted burst to super-ordinate station. It shall also append its own ACK/NAK of retransmitted burst.

[Change figure 157b as shown in following figure]
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